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And one by death and flogging - DP9 noma N7

Overview'

The &3 explained that according to »n", who maintains o>wm 712, the 7109 of
YW >0 (which teaches the rule of 7°1°n 12772 % 0°p), applies to a case of N
mpony, that he receives only 1n°n, but not Mp?»n. Our MoOIN discusses how the 1327
will derive this ruling of »"2%7 by mpYm nn, since they expound nYwA 72 to
teach us n"2%p by 172 Mpon.

Moo explains:’
= YNPWA 21990 Y93 ¥1PNIN PN DN PN PN 1939

And the 3321 maintain that we can derive the rule of »n"2%p by both 121 mphn

and nypo@ 0o from the P10d of MW 575 -
- 51395M1 NAR NNR NYYS DIVN PN I DTN MPYMA 7103 25HN) DX YNHUNT

For the inference of 1nyw >72 (which is n"2%p) implies that whether he was liable

for ;1o or 3% in addition to the nmpn, the rule is 1291 AR MR YWD QW3 he
is only liable for one punishment —

MooIN anticipates a difficulty:
- 6‘1’01’ ND 1399 DIPAIN %D 7907 2) DY GN)

And even though the 705 next to YW >72, states 73817 KY 12° 2°%927K (he should
smite him forty (times) but no more) —

MooIN responds:
- "o 199N NPITY 110D MY XY NPDYT 991397 139 PN 0PI Jon

Nevertheless we cannot say that he should (only) receive mpb» and not be

executed, just like by 111 np%n where the rule is 29w 3981 7P19, the reason is -
= (DY) N,N9 97 PIT1ID) 81:’9‘1\0)112 729993 MMNON MINNT

! See ‘Overview’ to previous (X,12) X717 3"7 '0IN.

23,70 (x¥n) 027, We interpret MY >73 (in the singular) that NPYwA "2 DWM 12707 AR XY 277 AR DR 9w awn,
that there are no two punishments, only one.

? See ‘Overview’.

* The P10 of 1MywA *75 is discussing the punishment of Mpn.

> In the case of mp ) an*» he will receive 7n"», and in the case of ™ Mpon there is a dispute, whether he pays
(X9) or receives NMpon (A ).

% See footnote # 2. 2 105 concludes TDOMI MY *75 1107 175, and '3 PIOD continues N N DVIAIX. Indicating that in
a case of 1yw" »72 (where he is liable for two punishments and receives only one), the punishment that he should
receive is 12° 027X, which is MpPon, so why by mpom1 an does he receive 10, he should receive mpon?!

7 See footnote # 5; this is the view of 1 ™.
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‘For should he actually gain’ because he also transgressed a mp?» punishment, as
the X713 asks in 2%p9w2n pod —

MvoIN anticipates an additional difficulty:
- R9YD N3 IT59N 11993 P37 *)29N NIPIMY 11191 5337 23 IY N

And even though regarding a case where he is liable for both mp%=21 1322 we rule

that he is required to pay, even if our assumption is that money is a more lenient
punishment than mpn, this seems to contradict the concept of "MANK *MANR' —

mooin replies:
193N 'Nanna ONT 0IWN NN

There the reason we give him the more lenient punishment of money is because
Hashem had mercy on the wounded one.

Summary
VWA 273 teaches us 2"2%p both by 0o Mpon and 1 Mpon. We generally give

the more severe punishment, except when the victim stands to lose financially.

Thinking it over
Can we understand n50n question, = 191 MPYIY 1AM %237 2"YX), even according to '

1 who (generally) maintains'> 22w 1R p12?"

11

8 The mwn there states if one is liable for two death punishments, he is executed with the more severe one. The X3
asks, this is obvious! Why should he gain and receive the lesser punishment. He transgressed the more severe crime
and he is liable for that punishment (and would have certainly received it), so how can we even think that since he
committed an additional (lesser) crime, he should receive the lesser punishment only?! The same applies here if he is
liable for in°n, how can we exempt him from 70 and give him the lesser punishment of mp%». This logic overrides
the inference of 113° 2°v27R, which would seemingly indicate that he should receive mpon.

% X,2%. X9 maintains 712 1K) 29wn (see footnote # 5). The Xn there explains that X2 maintains 71> WRY 27w
even if we assume that 1127 is more lenient than mp%na. The question is, if X712 X111, why do we make him pay (the
lenient punishment) and not give him np%n (the severe punishment); 70X *11nk?! See “Thinking it over’.

19 Really he should receive nipn, however the victim who suffered a monetary loss will not be compensated if he
receives mpn, therefore the 77110 had pity on the victim and rules that the perpetrator must pay.

' See footnote # 9.

12 See footnote # 5.

3 See (X"wan and) nov 1.
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